
Math 9 F19 Quiz 8 Name:

(1) Find the scalar equation of the tangent plane to the surface

x2 + y + z = z2 ln(xy)

at the point (1, 1,�2).
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Solution

Let Flxihz xiytz_Élnlxg
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Tangent plane is

2 x 1 3 ly 17 tlztzl ⼆0
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(2) Let F (x, y, z) =


x2 � 2z2

x2 + y3

�
and G(u, v) =


u3 � v
uv

�
. Use the chain rule to find

the derivative matrix [(G � F )0(2,�1, 2)].

Fnifi 州

如⼼啊 G1 4，3 I
MM 14，3

14 到
2X 0 4Z

IF 121 1124 lzx 35 0
引

min 州

44

Use the chain rule to obtain

KGOF 12 1，21 G FM 1，211 F 2 1，21
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